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In Section - A, thers are 35 objective type questions which aro compulsory, each carrying 1 mark.

Darken the circie with biuve black ball pen against the correct opiion on OMR Answer Sheel provided 10 you.
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Questions are (o be-answered. Apart from Ihis, there aro 6 Long Answer Type questions (Each Carrying
5 marks), out of which any 3 quostions are [0 be answercd,
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WS~/ SECTION-A

m U¥1_/Objective Type Questions

0¥ W 1 9 35 i @ wRd grr & wme we Qe R w8 R @ ow wd@ &1 5w

FRT 7 T ) A ) 0MR - e T P o) (a5x1=35)
Question No. 110 35 have four options, out of which only one is correcl. You have to mark, your selected
option, on the OMR - Sheet. (35xd=35)
L 3 & g wi s g @ -

W T@li /fEd(Cm?) M) g/ He (Nm)

©) FdAm/aER (CV) (D)  THM ~ AR (Cm)

Unit of surface charge density is -
(A)  Coulomimetre? (B)  Newton/metre
(C) Coulomb/Volt (D) Coulomb - metre

2l el ge @ oR AR + q M v R o, @ wigel 9w A Praan e Rga oo
farern wym?
(A)  gxe, o

3

t‘

(C) E, (D) q°
q g

If + g charge is placed inside any spherical surface then total flux coming out from whole surface

will be -

(A) qxe, : (B) q
e.

(C) (D) q'

23
q
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L al0pc € - 10pc ™ @ R s amg A R 40 cm A KR WA #1 P 4y g
ferfyra st Al -

(A)  228) By~ 238)
©  -225) n)  -235)

Two point charges of + 10 e and — 10 jic are placed at a distance 40 cm in air. Potential encrgy of

the system will be -

(A)  225) ®y  235)

(C) -2.25) (D) -235)

4. Aqo Ry # Prefm RufY 3 Rge fem @1 2w e @ -

(A) 1 _pen8 (B) 1 p
dmt, dzz, !

(©) . 1 oy T
i, 1

The electric potential in equatorial position of an clectric dipole is -

(A) 1 pcos® @ 1 p
dx, ine, 1’
() I p »  Zero
'odm, 8
5. af2 100 vV 7% If@ A R @ waia D wfta o9t 1) @ @ sl A afta 8 -
(A 2x10°F iB) © 2x10*F
(C) 2xI10°F M  2x10°F

The stored energy, of a capacitor charged to 100 V, is | J. Capacitance of the capacitor is -
(A)  2xI10'F By 2x10*F
(€ 2x10°F ' (D) 2x10°F
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‘{ Rt v @ Ah Agn - ofwu & o amn o R onm & @ FEF A

om -
N s W g
(€ g ) R e

Al constant potential difference, the resistance of any electric circuit is halved. the value of heat

produced will be -
(A) hall (8) double
() four times M  ame
L W T 0w @ 2 73 ol w3 3 ot o o afda wiv o -
) 10w M 2400w
(€) oW Jpr HwW

When two bulbs of power 60 W and 40 W are connected in serics, then the power of their
combination will be -

(A)  100W B  M00W
€ 0w D) MW
/ﬁrn-vﬂmm’-}mhs’nﬁt-
(A) VR (B) VLR
© ' D) VR
R

Power of an electne - circuit s -

(A\) VR (B) VAR
€ D) VR
R
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9, et yfre an ot ey B -

w/ T #) oA

(C)  aqa sfa n  x

The resistance of 18cal ammeter is -
(A)  Zero (B) very small
(C) very large D) infinute
10, wz am A | A vmit yiPn o Th B af gt w snim 16x 107°C T m 9fy ageE M0
gmfe gaatn B qom B -
(A) 0625710V B 625x10"
© 16-10" m  16x10"

f

The current flowing in a wire is 1 A. If the charge of an electron is 1. 6 x 10 "'C. then the aumber of
clectrons flowing through the wire per second is - http://www . bscbstudy.com

(A 0625x10" dBr  625x10"
(C) 16x10" m  16x10"
\}‘/{(mﬂmeﬁ B 1 sfem (M) qvda smpt @ am - o g PO @ - e (3) @
W o @ - -
JA) i=MxB (B) T=BxM
(€) : M (D) =M B
i

The 1orque () experienced by a current ~ loop of magnetic morment (ﬁ) placed in magnetic ficld

Bis-

(A) t=MxB (8) 1=BxM

= izﬁ D) =M B
B
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127
Lo W T ) e @ -
W) R B
© s D) g o R PR

The susceptibility of paramagnetic substance is -

(A) Constant (B) Zero

(€) Infinity (D)  Depends on magnetic ficld
A srh @ wrd a1 Rrgr smafka & -

A) U @ el R w® By Ryga-gaen 1o W

(€ Ma gaza ® (0 Ra Aga w

The working of dynamo is based on the principle of -

(A) Heating effect of current (B) Elcctro - magnetic induction
(C) Induced magnetism (D) Induced clectricity
4 afz A el g & P Rt A Ny o Ny T2 8 -
(A) Ni>N: (B) N2> N
- (©) Ni=N: ' (D) Ni=0

In a step - up transformer, no. of ums in primary and secondary coils arc Ny and Nz, then -

(A) Ni>N; (B) N:> N
(C) Ni=N: (D) Ny =0
J( L -R ey a1 afdw e & @ -
(A) R+WL By R 4
JRI+W2 L2
© RJVR+WILE D WL
R
The power factor of L - R circuit is -
(A) R+WL (B) R
JRI+wWiD
© R RI+WIL? ® wL
R
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16. u(mmﬂ\nnuﬂwﬂnmlﬂ'ﬂIQUUTR’GQ‘»MWQK\,ﬂ‘mmmmm_

},\{ lcos © B) lund

(€C) Isind D) lcos* §

In an altermating current circuit, the phase difference between current | and voltage is 9. then the

Wattless component of current will be -

(A) Tcos @ (B) ltan ¢

() Isind (D) lcos’ &
A7 gamad ww @& wiga mma m iR AR T e e 8 -

w N2 ® I

V2
© ! (D) 242
-~

The ratio of root mean square (ms) value and peak value of an altemating current is -

(\) (B) l

2 | =
© 1 @ 242

2

8 gt & et 8 By A R R e E @ 2 A g 0 9, A -
(A)  n«=By By nl e« By
() o« Byf (D) i i
By

In carth's magnetic field By, if the frequency of oscillation of a magnetic needle is n, then -

(A) ne By (B) n’ « By
(C) ne«Byf (D) 5.
0 o —
B“

(1171 A . Page 7 of 16



A% q YN (@ ag pe-ae v oma @ # -
(A\) 0 () 45
1) e " 180°

The value of angle of dip at the carth’s magnetic pole is -

(A\) 0 (m 45°
(C) n* 1)]] 180°
J{ Rga — qaada o & 3mer @ R erd) ¢ -
L0V I T BTN (11 It T
€©)  [GxE D wmr W Exh @ IR

The direction of propagation of clectromagnetic wave is -

(A parallel o B 1 panallel o E
(€) Parallel to Bx ) Parallel to Ex 1§

L g 3 AU (= 1S W R (n= 1,33 0 el SN &, aa ug ameR wwa 8 -
(A 309 da N we W AW A e
(€)@ iRe : M ywd wh A R

A convex lens (n = 1.5) is immersed in waler (n = 1.33), then it will behave as o -

(\) Converging lens (n) Diverging lens

(C) Prism () Concave mimror .
2. Prafafa 8 s svwkas wwd sfe B 82

(A) fa (B) -l

(C) am (D)/ &

Which one of the following has maximum nefractive index?

(A)  glss ‘ B)  water

(C) iron (D) - diamond
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‘)_‘_/;‘ Ju ) e - 1SD w4 5D g o ¥ R @Y W o A YR gh

o -
(A)  -20cm ,,U'r - 10cm
() +10cm (D) #20cm

Equivalent focal lengih of two Jenses in contact having power - 15 D and + 5 D will be -

(A) -20cm . B) -10cm
(C) +10cm (D) +20cm
24, g i & Ryg anvdla greds @ e e oedh @ -
WL B)  -foxf
f,
@ L L) fo+fe
f

The magnitying power of an astronomical telescope for normal adjustment is -

(A) _ ‘_- (B) ~foXxfe
f, ’
() f, ) fo+fe

&t A w oeeR R on 8, offa @ 99 20 @ R 3 B g Rl o o ¢ -
(A) Pz - gfem @ & - giem
@f  cRemifeam ) W - R

Cylindrical lenses are used to correct the cye defect called -
(A)  myopia (B)  hypermetropia
(C) 'a\lignmism (D)  presbyopia
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6. uatn & WM W gwm & -
(A) g agh) ()  gwrm A
(C) g Al yn/ g

Light owes its colour to s «

(A) froquency 1)) velocity
(€©)  phae ()  amplitude
27, o yumdmd mut A RS B AR g Ao @ =prm Ruas @ o 8 -
(A) (I-mA J.B’/ n-DA
(€C) (+DHA ' D) (1+mA?

Deviation of a thin prism of refractive index n and angle of prism A is -

(\) (l-mA (B) n-DA

(C) m+DhA (D)  (1+mA°
28, fash figga @ A R 3 w® @ @m @ -

(A) TERR B AR

(C) awad (D) TOER

The wave front due to a point source at a finite distance from the source is -

(A) Spherical (B) Cylindrical
(C) Plane (D) Circular
29. @ @ war @ Wagw g § - |
(A wm ' @B e R
(€) Tl @ T WagH ) T TR B R
The solar spectrum is -
(A) Continuous (B) Line spectrum
(C)  Spectrum of black lines (D)  Spectrum of black bands
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UM ) o ol Qe & gol Of & -

A WA 113} h_(:
A

© M m A
¢ hc

The encrgy of a photon of wavelength A s -

A kA ® ke
A
© M o A
. c he
U3t Rt e & P 3R A el ) it o v wRem A o @ i 8 T T
g s
(A) e aig ® >-amg
(C) wId &l (D) ywn Faos

The time in which radicactive substance becomes half of its initial amount is called -

(A)  averagelife (B)  half-life

(C)  time-penod (D)  decay constant
MN T3 A snfuras w1 Rftre ik -

(A) Tw@m @)

(€)  ufafifa wem &) D) YA mE

With the increase of temperature the resistivity of semiconductor -
(A)  increases, (B)  decreases.

(C) remains constant. (D) becomes 2¢ro.
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SUTNAND 27 @ v etaw B -

Te
"

(A) YsAel m Y=Al
€ YeAtH W YeRD

The Boolean expression for NAND gate ts -

A\ YoAeD 1)) YaAD
€) y=aA+D M Y=AB
s whithwn A sfafea s am k-

(A) o 8 o1 4 &
€y mao & (D) 05 A T AR

The medulation index in amplitude modulation -
(AY  valways zero (B) lies betwcen O and |
() lics between | and » D) Can never exceed 0.5

7 & A w9 0E TV O e ) Sord 245 m &) R it g0 4B @ TR

&1 9ARM Q'gllm T3¢ &-

(A) 248m (B 245km
© S6km (D)  112km

The height of TV tower at a centain place is 245 m. The matimum distance up to which its

programime ¢an be received is -
Ay  245m m  245km
(<) §6 km (D) 12 km
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QqUS -4/ SECTION-B
R-TfS 7% /Non - Objective Type Questions
IUNT w1 / Short Answer Type Questions

mr o "’"WMahfhﬂmwr)damc’IMJU?@vzwm
& (102=20)
Question No. I ta 18 are short answer fype. Answer any 10 question. Each que stion carries
2 mariks. (10x2=20)
¢ R ogas @ ofdifa 5 g S1oares #) [8a ) 2)

Define electric Mux. Wnite its STumi,

2 flqﬂ-e\aﬂeﬂmammmkmmmmm (2)
Ectablish the relationship between electric field intensity and electric potential.

A af e R & dr TR Adian A ol S @ @ ST aRemh a6 &1 (@)

SR 8 A AR B AR B9 4 et A, o) I afefl e fard o
The equivalent capacitance of three equal u:apm'il(vrs connected in series combination is 64F.
If these three capacitors are connected in parallel, find out equivalent capacity of the
combination.  http://www.bsebstudy.com
4 3 4 uqud A 2 ufRN WEER B 8 oR & g I Fen @ Ul @ JaE . (2)

£ad|
Two resistors of resistance ratio 3: 4 are connected in parallel. Compare the magnitude of heat
produced in them -

& e a| an &2 Q)

What is Lorentz force?
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ﬁ:- ne oo A2 B ) aunin A
\/

WhM is Whunt? Wite 11s 1Wo 1ses

¥ &y

Lenz’s law of electromagnetic induction follows the principle of conservation of energy.

Discuss it

7-,/"""0!3“ - Y O @1 AA w sl @ e B g @ oo s 2| §ER

8§ =g aE o oum @ R wm oY g wnfa w3

Establi<h the relation between mean value and peak value of AC,

3 wwradt o oftwu A ufer v efann a7 82

What are reactance and impedance in alternating current circuit?

y./ﬁrga-gwmma‘»zﬁgvﬁﬁ%m

Wnie down two properties of electromagnelic wave,

11. amm&m&mamumhamuftnm%w-qgﬁ%w
AN AN QP @M Y T 36 D OEa g A

Two thin convex lens of power +5 and +4 diopter arc placed co - axially at a distance 10 cm.

Find the focal length of the combination.

y/’mmmmﬁmmﬁl

Differentiate between primary and secondary rinbow.

(2

2)

(2)

(2)

)

(2)

(2)
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I\ geumy @ @ Ed A 8 A a1 TRE wy 2
Descnibe the two shaetcomings of Bohr model of atom.

4, e 3w e vl - Prrats $2x 10" ufy of &1 ST aal - Wiy am gf? (2)
The decay constant of 3 radioactive substance is 5.2 x 10  per year. Determine its half - life
Js/onmn,wnﬁzmmun'hmmmfkm 2)

Whnie truth table and Boolean expression of OR and AND gate.
16. M e W Aqn oqw @ afemn 2 (b]]
Define flux of clectne field on a surface.

1. mnnAdwmmbnvcmmnﬂmmhzvhufam,\m 2

mmu.mmmammmamﬁmmmm7

Velocity of light in medium A is v and velocity of light in medium B is 2v. If reflructive index

of medium A 1 Jia and refractive index of medium B is pta. then what will be value of -:f

I8, g ww # o gad & B A @@ onfm am 3) 4w g A ok G ) @
7@ A Rem Fm wofty
In a vertically upw;ud's magnetic ficld B,a positively charged particle is projected horizontally

castwands. What will be the direction of force on the particle?
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M uadn_TF / Long Answer Type Questions
TR w19 A N O ooy g @1 ¥ R B omie avr @ AU 5 v

il &) 4 3 or) & v 24 s=15)
Quertion Nos. 19 to 24 are long Answer Type Questions. Each guestion carries S marks,
Answer any J questions. (InS=l$)

19. fan - fya am & Regda Byn & arm QA g = Agda - M @ oran 99 (S)
*Y)

What is electne dipole? Find an expression for electise potential at any point due to an electnic
dipule.

20. Rte & Pyl a) 52 ma ) g Al @1 ggan o gewa Ra & wEa A (5)
TR YT )

Stale and explain KirchholTs laws. Applying this law, obtain the halanced condition of
Wheatstone bridge.

3¢ grerk ol g1, e o1 Rl s av e 5
Descnbe the pnnciple. constnxction and working of a transformer.
2. @ @ (73 gr wamdm qeavn A en @ A an oo 6 ok Sad et - e (s)
1 o '

With neat diagram describe the construction and working of an astronomical telescope and
find wts magnifying power.

23, m-memamammmmm-mmmmmtm (s
s wd B A

What Is dispensive power”? Find lhe‘ necessary conditions for obtaining deviation without
dispersion by two thin prisms.,

yammmma‘.mammm«mmm
Explain with the help of a labelled diagram the working of a transistor as an oscillator.

L)

—
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